

GRADE 2 – MODULE 7:  PARENT GUIDE

Problem Solving with Length, Money, and Data

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  


Module 7 Contents:
	Topic A		Lessons 1 - 5
	Topic B		Lessons 6 - 13
	Topic C		Lessons 14 - 15
	Topic D	Lessons 16 - 19
	Topic E		Lessons 20 - 22
	Topic F		Lessons 23 – 26
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€. Use the Animal Habitat table to answer the fallowing questions.

il Habiats

1. How many arimals have hebitats on grasslards and wetlands? 19
2. How many fewer animals have forest habitats than gresslords habitats? __ 3

3. How many more animals would need fo be n the forest category to have the same.
amount as animals in the grassiands category?. o

4. How many total animol habitats were used 1o create this fable? __ Q5

Use the Arimal Clossification fable to answer the following questions obout the
fypes of anims Ms. Lee's 2" grade class found in the local z00

AnimalGsfcaion

1. Hou many animals are birds, fish, or repiles>
2. How many more birds and mammals are there than fish and reptiles? _
3. How many animls were clossified? 95

4. Hou many more animals would need o be added to the chart o have 35 animals
clossified?

5. TF 5 more birds and 2 more repties were added 1o the fable, how mary feuer.
reptiles would there be than birds? __La.
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3. Use the Animal Habitats table to answer the following questions.

Animal Habitats

Forest Wetlands Grasslands

ML | M Wi

a. How many animals have habitats on grasslands and wetlands? _ q

H-6=3

b. How many fewer animals have forest habitats than grasslands habitats?

¢. How many more animals would need to be in the forest category to have the same
number as animals in the grasslands category?

d. How many total animal habitats were used to create this table? 2.5

4. Use the Animal Classification table to answer the following questions about the
types of animals Ms. Lee's second-grade class found in the local zoo.

Animal Classification

Birds Fish Mammals Reptiles

6 5 11 3

a. How many animals are birds, fish, or reptiles? _/ 4

17-8=4
b. How many more birds and mammals are there than fish and reptiles? 0
G+57 11 !
c. How many animals were classified? 25 f1+3=94 M 149225

d. How many more animals would need to be added to the chart to have 35
animals classified?

e. If 5 more birds and 2 more reptiles were added to the table, how many fewer
reptiles would there be than birds? __ (o

GtS =\ 3r2=R n-5 =G
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€. Use the Animal Habitat table to answer the fallowing questions.

il Habiats

1. How many arimals have hebitats on grasslards and wetlands? 19
2. How many fewer animals have forest habitats than gresslords habitats? __ 3

3. How many more animals would need fo be n the forest category to have the same.
amount as animals in the grassiands category?. o

4. How many total animol habitats were used 1o create this fable? __ Q5

Use the Arimal Clossification fable to answer the following questions obout the
fypes of anims Ms. Lee's 2" grade class found in the local z00

AnimalGsfcaion

1. Hou many animals are birds, fish, or repiles>
2. How many more birds and mammals are there than fish and reptiles? _
3. How many animls were clossified? 95

4. Hou many more animals would need o be added to the chart o have 35 animals
clossified?

5. TF 5 more birds and 2 more repties were added 1o the fable, how mary feuer.
reptiles would there be than birds? __La.
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3. Use the Animal Habitats table to answer the following questions.

Animal Habitats

Forest Wetlands Grasslands

ML | M Wi

a. How many animals have habitats on grasslands and wetlands? _ q

H-6=3

b. How many fewer animals have forest habitats than grasslands habitats?

¢. How many more animals would need to be in the forest category to have the same
number as animals in the grasslands category?

d. How many total animal habitats were used to create this table? 2.5

4. Use the Animal Classification table to answer the following questions about the
types of animals Ms. Lee's second-grade class found in the local zoo.

Animal Classification

Birds Fish Mammals Reptiles

6 5 11 3

a. How many animals are birds, fish, or reptiles? _/ 4

17-8=4
b. How many more birds and mammals are there than fish and reptiles? 0
G+57 11 !
c. How many animals were classified? 25 f1+3=94 M 149225

d. How many more animals would need to be added to the chart to have 35
animals classified?

e. If 5 more birds and 2 more reptiles were added to the table, how many fewer
reptiles would there be than birds? __ (o

GtS =\ 3r2=R n-5 =G
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1. Use grid paper to create a picture graph below using data provided in the table.
Then answer the questions.

Title: Central Park Zoo Animal Classification
T 3

Central Park Zoo Animal 5

Classification

Birds | Fish | Mammals | Reptiles

6 5 11 3

a. How many more animals are
mammals than fish? _6

b. How many more animals are
mammals and fish than birds and
reptiles? 1

W+5216 6+3=9 16-9=1
c. How many fewer animals are

G |0|0Q|o|0|O|O|o|o|olo

C|lo|0|C|C|O
OClo|OlO|O

reptiles than mammals? 8 0
0

1-3=
| g B

Birds Frsh Mammols  Reptiles

Legend: Each O=1 animal

d. Write one question comparing the number of two different animals.

Question: _How _mony move birds are there Yhan Ye?*iIES?

3 because 6-3=3

Answer:
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2. Use the table below to create a picture graph in the space provided.

Animal Habitats

Desert Tundra Grassland

ML B e A
Title: Ahimal Ha,\;{-l‘u,‘l’s

Desert ololololo|o 6

Tundra olololo|o g

Grassland (0|00 |0|0|0O]0|0|0O|l0o|0|0|0]0 I

Legend: Each 0= animal habitat

a. How many more animal habitats are in the grassland than in the desert? g

b. How many fewer animal habitats are in the tundra than in the grassland and
desert combined? _IS

c. Write a comparison question that you can answer using the data from your
picture graph.

Question: How _many more habidats are arassland Hion 4\'qu¢?
answer: ) because 5+9=14
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1. Complete the bar graph below using data provided in Animal Classification
the table. Then answer the questions about the data.

Birds | Fish | Mammals | Reptiles

6 S 11 3

Title: Animal  Class:fication

Birds

Frsh : —

M ammds

Rcemes

a. How many more animals are birds than reptiles? 3

b. How many more birds and mammals are there than fish and reptiles? Ci
b+l=1% 5+3=8 ?-8=19
c. How many fewer animals are reptiles or fish than mammals? S
3+5=¢ [(1-8=3
d. Write and answer your own comparison question based on the data.
Question: How m any move animals are fish Hian veptiles®

Answer:_Lnere are ) more fish  than rep*\\es,
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2. Complete the bar graph below using data Animal Habitats
provided in the table.

Desert Arctic Grassland

M| L

a. How many more animal habitats are in grassland and arctic combined than in the

desert? 1D H+5=19 19-p=13

b. If 3 more grassland animals and 4 more arctic animals are added to the graph, 17+ 9=2b

how many grassland and arctic animals would there be? Kb {;/: 3 _‘!,7
c. If3 7rllti>mals were removed from each category, how many animals would there

be? 1o 3+2+1l=1b

d. Write your own comparison question based on the data and answer it.
Question: more d habitats than desert habitats?

Answer: !Ll = b =g Ih_efﬂ are Emore gm;s\ancl habl‘}d'l's
than desert habitats.
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1. Complete the bar graph using the table with the types of bugs Alicia counted in the
park. Then answer the following questions.

Types of Bugs

Butterflies Spiders Bees Grasshoppers
5 14 12 7
Title: Types of Bugs

Butterflies ih«'-:r_ ==

Spiders s £ A0

W
I

Bees = =t -

Gfasshoﬁfer; == ==
/2 3 4 5 6 29 9 1o 213 4

a. How many butterflies were counted in the park? _§

b. How many more bees than grasshoppers were counted in the park? 5)

c. Which bug was counted twice as many times as grasshoppers? SEiJCfS
19 +/f“f = 3%

d. How many bugs did Alicia count in the park? 38 5+14=19 o
0

1+t =19
e. How many fewer butterflies than bees and grasshoppers are in the park? /4

12+F=19 [{9-C=]4
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2. Complete the bar graph with labels and numbers using the number of farm animals
on O'Brien’s farm.

O'Brien’'s Farm Animals

Goats Pigs Cows Chickens

13 15 7 8
Title: ___O'Brien’s Farm Animalsg

Goats ?135 Cows Chickeng

a. How many more pigs than chickens are on O'Brien's farm? __1
b. How many fewer cows than goats are on O'Brien's farm? g

c. How many fewer chickens than goats and cows are on O'Brien's farm? e
[3+F=20 Z0-9 =11

d. Write a comparison question that can be answered using the data on the bar
graph.

How many more pias than cows are on  ()'Briens farm?®
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1. Complete the bar graph with labels and numbers using the table with the number of
dimes each student has in their pocket. Then answer the following questions.

Number of Dimes

Emily Andrew | Thomas Ava
8 12 6 13
Title:  Number of Dimes

Em]l\/

Andrew == S

Thomas

a. How many more dimes does Andrew have than Emily? 4
b. How many fewer dimes does Thomas have than Ava and Emily? 15

Brg= o 2Lsls
¢. i. Circle the pair with more dimes, Emily and K@or‘ Andrew and Thomas.
13+3 =21 1246 =18
ii. How many more? 3

d. What is the total number of dimes if all the students combine all their money? ?36\
g+n=20 C+13=19 19+20=39
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2. Complete a bar graph with labels and numbers using the number of dimes each
student donated.

Number of Dimes

Madison Robin Benjamin | Miguel
12 10 15 13
s Title: b £ ?
I :
3
(12
u
19 =2
==
===
1 [EREE
6
5 . qHH
4 MEE
3 = =3
1 =
, x |
o B
Madison Een’)a\mlr\

a. How many more dimes did Miguel donate than Robin? 3

b. How many fewer dimes did Madison donate than Robin and Benjamin? /g
(0+15=2¢% 256-12=13

¢. How many more dimes are needed for Miguel to donate the same as Benjamin and
Madison? H +15= 271 12+ ©=2%
d. How many dimes were donated? 5o

110 =22 15413 =23 28 + 22 =5
2 20
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Neme  MuCDENR dere

S
L Groce has 3 dmes, 2 ickels, and 12 pnnies. How mch money does she have?

D¢

2 L b 2 dimes cnd 4 peres i pocke rd  ickels o  rtr i th ter

3. Mamodau found 39 cens n the sof last week. This week he found 2 ickels,
4 imes, ond 5 pesses. How much money does Maradou have aitogether?

20465
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gove 1 dime and 1 mickel o his brother. How much money

maruel hod 53 cents He,
does Emanel hove ef17
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Solve.

L. Patrick has 1 ten-dollo bill, 2 five-ollar bils and 4 one-dollar bills How much
money does he have?

194,

2. Susan has 2 five-dollar bills and 3 fen-doller bill in her purse and 11 ane-dollar bills
in her pocke. How much money does she have inall>

$51

3. Raja has $60, He gave 1 twen
i oney doss Raja have 1eF?

ollar bill and 3 five-dollar bils o his cousin Hou
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4. Wichael has 4 ten-dollar bills and 7 five-dollor bils. He has 3 more ten-dollar bils,
‘and 2 more five-dollor bills than Tamara. How much maney does Tamara have?

I3
qo

529

5. Antonio had 4 ten-dollar bils, 5 five-dollar bills and 16 one-dollar bills. He put $70
of that maney in his bark account. How much maney was not put in his bark account?

6. M. Clark hs 8 five-dolor bills and 2 ten-dollr bills in her wollet. She has |
fuenty-doliar bill, and 12 one-dollar bils n her purse. How much mare money does
she have in her wallet than in her purse?

0
w0 - 272 Sl
32

€23
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Write another way fo make the same fotal value.

@0e@
|

| 2 dimes, ke, and pemy =26 cens | 1 GUOCHCC 4 pepyg

2. 35 cents Anather way to make 35 cents:

@00

Sdimesand trickel = 35cents |4, QUACEEY (0 DL €S

Arother way to make 55 cents:

2 qurtersand tickel=55cemts | S i § | picrel

4. 75 cents Arother way to make 75 cents:

GG

3 quarters = 75 cents qdineS § pennie)
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5. Grerchen has 45 cents to b
paid with that would equal 43 cen

ayo-yo. Write wo coln combinations she.could have

4 quater 2 dimes

Ye  pennicS§

6. The cashier gave Joshua 1 quarter, 3 dimes, and 1 nickel. Write fwo other coin
combinations that would equal the Same amount of change.

"ho¢

a quarters ¢ dime

| dinnes

7. Alex has 4 quarters. Nicole and Caleb have the same amaunt of money. Write fwo
other cain combinations that Nicole and Caleb could have.

10 dimvies

2 Guarets 1o pictelS
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1. Koyl showed 30 cents two ways. Gicle the wey that uses the fewest airs
A LT s/ @ N
@0 (29 )|

What wa cains from A were changed for one coin in 87

Q picrels int 4 dimne

2. Show 20¢ two ways. Use the fewest possible cains on the right below.

Fewest coins

Y niceels a Gimnes

3. Show 35¢ two ways. Use the fewest possible coins on the right below.

Fewest coins

4 quartee 4 dinme
3dimeS 4 njcke|
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4. Show 46 two ways. Use the fewest poss

sible coins on the right below.

Y dinus
]

[ nicke)
penny

Fewest coins

4 quorter @ dinus
1 penny

5. Show 73¢ two ways. Use the fewest pos:

sible coins on the right below.

T AIMES 3 penniy

Fewest coins

2 quorttrS @ dranas
3 pernict

6. Show 85 two ways. Use the fewest poss

sible cains on the right below.

3 quarters 3 dimeg
[ 4 niceed

Fewest coins.

3 quarte'S A-dime

7. Keyla v three veys o ke 4. Gird
he iy hat s the femest cains

a2 quarters ond 6 pennies >
-5 dimes. il and Tpemny 3
& 4 dimes, 2 ickels,ond 1 penry

8. Write.a way o make 564 that uses the

Je the correct ways o make 56¢ and star

fewest possible amount of coins.

a quaterS 4 nicted L pennd)




image27.png
Nome 14 (AL Date

1. Count up using the arrow way o complefe each number senfence. Then use your
coins 1o show your answers are correct.

adse +_99 ¢ <1000 o156 « 5S¢ < 1006
- .50 s LESE
5550 S0 IS =% g0 v 100
core o3 oo 4206 nia0
+3 40 ra 10
$1 <5 wo -7 loo 1w s w00

2. Solve using the arrow way and a rumber bond.

wrse e Al o )
14 s 20 @

b6aes 3 f =100
1 130 6\‘
wy % 10 ¥ |00

.100¢ - 30¢ = b
0
v (00





image28.png
5 sobe
g e ¢
- T2 two
e O ®

o t00c-sse eS¢ @‘

1490
s ¥ wo 0o / -
sso (Mse

e o0e-2s0s_12. ¢ (51

N
12 10 I g S
30 ¥ 100 VAT

a§ +30 v 100 \‘;’?ﬁ (/im

@ 00e-a3es S L N
B0 ¥ g ;‘\

00 .

< oo 514 &





image29.png
Nome _ MALCVOALC Date

‘Solve using the arrow way, o number bond, or a fape diagram.

L Teremy hod 80 cents. How much more money does he need fo have $1>

120
O > (ov
20 ¢

2 Ay bought  bananafo 35 cents. She gove the cashier $1. How mch change did

1S 10
25 HUo Yoo WSy

. Jogepn spent 75 contsof s dller atth rcade. How much ey doss e ave
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4. The notepod Elise s costs $1. She has 4 dimes and 3 ickel. How much e
money does she need o buy th notepod?

55 TSy "V 100 (\\-IY N

5. Dane sved 26 cents onFricy and 35 cens on Mencly. Hew moch more money il
e need to save o have saved $12

hehove lef 1>

3¢

He covld have 4 quart,
1 dime, 0nd 2 pennies,
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name M C UL . bate__
Solv with  tap diegrom and nmber senfence.

1. Josephine has 3 ickels, 4 dimes, and 12 pennies. Her mother gives her 1 coin. Now
Tosephine has 92 cents. What coin did her mother give her?

1z
sqL

v an A Wl
N ‘/& ¢
q2¢ -

2. Christopher has 3 ten-dolla bills, 3 five-dollr bills, and 12 one-dallar bill. Jenny
has $18 more. than Christopher. How much money does Jenny have?

=2

R il gﬂu 3
Jennvy 357 M

N
7

3. Tsaiah started with 2 twenty-doliar bills, 4 fen-dollar bill, 1 five-dollar bl and 7
ane-gollor bils. He spent 73 dallars on clothes. How much money did he hate left>
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4. Jockiebought o smeater a the stoe for $42. She had 3 five dolor il and 6 cne
ol bills ef over. How much eoney id she hve before buying he sweater?

77 *j%
fus)

5. Ak found 18 cents inhis pocke. He found 6 more coes i his ther pocket
Altagether he has 73 cents. What were the & cons he found in i athar pocker?

o er$
Visel | 773¢ 1%
554

Sdimes L niccel

6. Mory found 98 centsin herpiggy bk, She counted 1 qurter, 8 peries, 3 dimes,
ond some rickels. How any ickels did she count?

el 17%e
25

1 opice\S
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L. Measure the objects below with an inch ile. Record the measurements in the fable:
provided.

= = P
ferof scsors 5 incheS
e (e inches
- | T inches
o 2 inches
L L inches
"“'“""""f" 8 inches
Lenghof desk |7 tnehes
et 2% inches
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2. Mark and Melissa both measured the same marker with an inch tile but came up with.
different lengths. Circle the student work that s correct and explain why you

chose that work. —
Walaass Work
! [ [ I | 1
. 6 n
harcs Work
| | | | | | |
7 i
Expanation:
Melissa § rignd hecavse She

countcd tne_inches ard Mave

Coundrd _tne  clasn parys
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Use your ruler to measure the length of the objects below in inches. Using your ruler,
draw a line that is the same length as each object.

1. a. Apencilis 1 inches.
b. Draw a line that is the same length as the pencil.

2. a. Aneraseris ;5 inches.

b. Draw a line that is the same length as the eraser.

e ————————

3. a. Acrayonis & inches.

b. Draw a line that is the same length as the crayon.

4. a. A markeris lD inches.
b. Draw a line that is the same length as the marker.

5. a. What is the longest item that you measured? 'H\e P?,nmj
b. How long is the longest item? 1 inches
c. How long is the shortest item? > inches

d. What is the difference in length between the longest and the shortest items?

L{' inches
e. Draw a line that is the same as the length you found in (d).
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6. Measure and label the length of each side of the triangle using your ruler.

Side C

3 inches

Side B

l inches

a. Which side is the shortest?  Side A Side B

b. What is the length of Side A? 5 inches

c. What is the length of Sides C and B together? 7 inches

d. What is the difference between the shortest and longest sides? Z inches

7. Solve.
a. 12 inches = 1 foot
b. 5inches + 7 inches = 1 foot

c. 8 inches + 4 inches = 1 foot
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1. Circle the unit you would use fo measure each item.

Height of adoor. inch / foot / yord
Math book inch / foot / yord
Percil inch / foot / yord
Length of a car inch / foot / yord
Length of your street inch / foot / yord
Paint brush inch / foot / yord

2. Circle the correct estimate for each abject.
a. The height of a flagpole is more than / less than / about the same os the length of a
yardstick.

b. The width of a door is more than / less than / about the same as the length of @
yardstick.

c. The length of a laptop computer is more than / less than / about the same as the
length of a 12-inch ruler.

d. The length of a cellphone is mare than / less than / about the same o the length of

a 12-inch ruler.
1) SSMMON [smmse teion s o engage™
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3. Name 3 things in your classroom. Decide which it you would use fo measure that
item. Record i in the chart in a full statement.

Trem Unit

a T would use tomeasure the length of

4. Name 3 things in your home. Decide which urit you would use fo measure that item.
Record it in the chart in a full statement.

Trem Unit

a T would use tomeasure the length of

engage”
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Estimate the length of each item by using a mental benchmark. Then measure the item
using feet, inches, or yards.

T e serchmark | Estmatin | AchalLongih
o \dior hardls 30
Widthof the oo ! |
" o foor | obout
2
Widthofthe
R |door bondtr) ) o | 2 yandS
4 Plodr
Heigtof adesk )
doov handu p
» four 2 0y 2 Leet
P
Longh of a desk R R
arm d leet |2 Leet
I | penail b incnss| &nches
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Trem  Mental Benchmark Estimation Actual Length
SR i
Lengthof o croyon )

T peaci) |8 incnes | T inehes
gl;, th of the
gt the eom
\ard Cl rjgrd% 5 yard$s
shc A
h R -
gt of i of
penal $incheS | 7 inches
Length of the window fuler 2 De{‘f J f((’f
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Measure the lines in inches and centimeters. Round the measurements to the nearest
inch or centimeter.

_l3__cm _5____in

__“_cm iin
15 cm (D in

cm
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5. row lies with the measurements below.
@ 3centimeters long

b. 3inches long

_—
. Dty s more ches o cntinetrswhen et s o

b, Write.a sentence o explain why you used more of that unit

you geed moce

7. Thomas and Chris both measured the crayon below but came up with different
answers. Explain why both answers are correct.

Thomas: 8 em
cwis 3 in

Explanation __ (010 [0PAS ﬂx \_Conhonedrys
Ond pae eAsoRPA i inenes SD
Q% (0 0N Cor(ec
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Measure each set of lines in inches, and write the length on the line. Complete the
comparison sentence.

1. Line A

Line B

Line A measured about 5 inches. Line B measured about 2' inches.

Line A is about 3 inches longer than Line B.

2. Line C

Line D

Line C measured about 3 inches. Line D measured about {O inches.

Line C is about 3 inches shorter than Line D.
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3. Solve the following problems:

a 32ft+ DOk 87t +8 +40 8oi>8710+.

B iy M=
b 68 fr-29fr=_2) .
bd 3% 20 LA TR 29 .
c. olf4. —a3¢r-18% ,
< 5531 0l
lo/"n\\ 4% 3

4. Tammy and Martha both built fences around their properties. Tammy's fence is 54
yards long. Marthd's fence is 29 yards longer than Tammy's.

Martha’s Fence
Tammy’s Fence
&55 yards
54 yards
longer
T )

a. How long is Martha's fence? ;;B_Z)__J:xrds M
pif 284 =43

b. What is the total length of both fences? 127 yards T ™M
+ 82
3212 51031305 12215137 Q‘"‘7 ,

127
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Solve using tape diagrams. Use a symbol for the unknown.

1. Mr. Ramos has knitted 19 inches of a scarf he wants to be 1yard long. How many
more inches of scarf does he need to knit?

26- [ yaro\ =36 inches

37-20 =1 _— e —
———————1

He needs Yo knib 17 inches r—i:;—\—:'——;l

Mmore. t9in

2. Inthe 100-yard race, Jackie has run 76 yards. How many more yards does she have

to run? 100 yd
/ Y 5\
I R She needs 4o run

\'Myds/\f / 2'"!More \{m’JS.

1o+ 24 =loo

3. Frankie has a 64-inch piece of rope and another piece that is 18 inches shorter than
the first. What is The total length of both ropes? Hin Ubin

/6‘1”\\ _ ~ S
—— 1 1 )
64-18 \ /
/\ . 66-20=1b P
" Yo+ U‘I = |10 inches
Both ropes are llomr_hes. 4o
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4. Maria had 96 inches of ribbon. She used 36 inches to wrap a small gift and 48
inches to wrap a larger gift. How much ribbon did she have left?

) ugi ?
_3bing TN 20N 3

—r—1 )
\ / 4:%

bin "
She has 12 inches left. :_g‘{_

(WA

5. The total length of all three sides of a triangle is 96 feet. The triangle has two
sides that are the same length. One of the equal sides measures 40 feet. What f\

is the length of the side that is not equal? @
16— 95t
Yo +%0 =80 \@
46-30 =1k

The oide Yhat is not equa-l is 16 feet ionﬁ.

6. The length of one side of a square is 4 yards. What is the combined length of all

four sides of the square? 4 vds
+d+q+4 =16 9 yds
N/ N/ ‘1\'& !
3 3
1 yds

The combined lenSHn is 16 yords.
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Find the value of the point on each part of the meter strip marked by a letter.
For each rumber line, one unit s the distance from one hash mark fo the nex.
1

20em A 50em

1
Each uit hasalengthof __)___centimeters.

Ao e
2
Bem 5 a5em
Each unit hasalengthof [0 centimeters.
P v
B
c 75em 0em

e

Gach unton the meter stip has alergthof ) centineters.
c:__ N0 M
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4. Each hash mark represents 5 more on the rumber line

1

[ =
What is the dif ference between the two endpoints? __ 22O

5. Each hash mark represents 10 more on the number line.

180
3

—t—t—
E= 20
What i th difference between the two endpointsr (00

6. Each hash mark represens 10 more on the number lne.
F o

)ttt

P S
What s the difference between the two endpoints?_ > O
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1. Each unit length on both number lines is 10 centimeters.
a. Show 30 centimeters more than 65 centimeters on the number line.

65 kLY

S e e |

b. Show 20 centimeters more than 75 centimeters on the number line.

15 9s

—

c. Write an addition sentence to match each number line.
65+30=95
15 +20 =95
2. Each unit length on both number lines is 5 yards.
a. Show 25 yards less than 90 yards on the following number line.

(A3

===tttk |

b. Show 35 yards less than 100 yards on the number line.

6S

b

c. Write a subtraction sentence to match each number line.
90-25=065
l00-35=065




image53.png
3. Vincent's meter strip got cut of f at 68 centimeters. To measure the length of his
screwdriver, he writes "81 cm - 68 cm.” Alicia says it's easier to move the
screwdriver over 2 centimeters. What is Alicia's subtraction sentence? Explain

why she's correct.
—c
v

Vincent's Tdea _f—p—t—p—p———————————————+

68 cm

Alicia's Idea H—HH—H—H4"4H4+H4+H4+4+H4+H+H—+H—+H—+—+—+++++

68 cm el
3-70=13 Alicia is correct because when youre

subtracting you Can make friendly numbers if you
add e same amount to both numbkers. The answer

will  be the same,
4. Alarge flute is 71 centimeters long, and a small flute is 29 centimeters long. What

is the difference between their lengths?

m@ T2-30=42

() -
The difference is YL centimeters,

5. Ingrid measured her garden snake's skin to be 28 inches long using a yardstick, but
didn't start her measurement at zero. What might be the two endpoints of her
snakeskin on her meter stick? Write a subtraction sentence to match your idea.
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1. Measure the lines below in inches. Record the data using tally marks on the table

provided.
Line A bin.
Line_____ 3Zin.
Line € Sin.
Line D Yin.
Line E Lin.
Line F in.
Line 6 5 in.
Line Length Number of Lines
Shorter than 5 inches il
Longer than 5 inches |
Equal to 5 inches ”

a. How many more lines are shorter than 5 inches than equal to 5 inches?

— 1 more

b. What is the difference between the number of lines that are shorter than 5
inches and those that are longer than 5 inches? 2z

c. Ask and answer a comparison question that could be answered using the data
above.

Question: T4 more lines were Q(iual fo 5 inches,

how many more” lines would equal 5 inches than onger Than Sin?

{ Switch papers with a partner. Have your partner answer your question on the back.
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Use the data in the tables to create a line plot and answer questions.

1. Length of Pencils in the Class Bin

Pem.:il Genath Number of Pencils
(inches)
2 1
3 2
4 6
5 7
6 8
7 4
8 1

Class Bin Pencils

XARX XK
RARKK ®X
2288 PTES

RKARA

A
X

R
R

[

1 2 3 4 5 6
Pencil Length (inches)

~
(o]
O

Describe the pattern you see in the line plot:

Most of *he ?enc\\s are 5 or b inches and not ‘aak

Many are | or Qinches. The most x5 are in Yhe middle.
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2. Scraps of Ribbon in the Arts and Crafts Bin

Lengfgc::lpI:ibbon Number of
) Ribbon Scraps
14 1
16 3
18 8
20 7
22 5
Ley\ ‘H\ oF Ribbon X
X
3 Scraps X ))5
% 0%
X X
x % X ¥ %
H/——%——F——i—f—%———%——%
M e 19 1o W 2%
Line Plot  (cm)

a. Describe the pattern you see in the line plot.

Mosk ribbon Suraps gre 1 um or 20 em \"“3'_

b. How many ribbons are 18 centimeters or longer? 20

it

c. How many ribbons are 16 centimeters or shorter?

d. Create your own comparison question related to the data.

How mo\ml move ribhons are 18 inches than

\G incnes T 5 yibbon Scraps
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Use the data in the chart provided to create a line plot and answer questions.
1. The chart shows the heights of the second-grade students in Mr. Yin's homeroom.

Height of Second-

6Grade Students Number of Students

40 inches 1

41 inches

42 inches

43 inches
44 inches
45 inches

46 inches

N w bl wIN|N

47 inches

48 inches 1

2nd Grade He\ak’fs Line Plot

KX
X

x X

0 Yo Ml MT M3 4§ 45 Me HT Mg
inches

a. What is the difference between the tallest student and the shortest student?
4g-40=Q Qinches
b. How many students are taller than 44 inches? Shorter than 44 inches?
toMer 4+3+42+41 =10in Shorter 3+ 2 +2+1=8in
\_‘/ ,\3/ N 57 N 3 ’
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2. The chart shows the length of paper second-grade students used in their art

projects.
Length of Paper Number of Students
3 ft 2
4 ft 11
5 ft 9
6 ft 6
Second Grade » Line Plot
Art Paper 2
X X
¥ X
= 3 %
% X X
;2 X X
% X % A
[ ) L Y 6
(Feeﬂ

a. How many art projects were made? 23

b. What paper length occurred most often? M

c. If 8 more students used 5 ft of paper and 6 more students used 6 ft of paper,
how would it change how the line plot looks?

Then 5FF would be Yhe \m‘g\ned‘ used and b £+ would
be Yhe second Ncﬁ\nes%.

d. Draw a conclusion about the data in the line plot.

Sudents  like do use \onaer poper for arlt projects

bether  Yhan  Shork paper.
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A Count and categorize each picture fo complete the table with fally marks.

i g B Y
W 4
w v #

B 2





image59.jpeg
Name D anie ! Date

Use the data in the table provided to answer the questions.

1. The table below describes the heights of basketball players and audience members
who were polled at a basketball game.

Height Number of
(inches) Participants
25 3
50 4
60 1
68 12
74 18

a. How tall are most of the people at the basketball game? Ttinches
b. How many people are 60 inches or taller? 31 inches H'AZ +18 =3

w

c. What do you notice about the people who attended the basketball game?

Some of them are really tall and Some are reai’y short
d. Why would creating a line plot for this data be difficult?
The numbers are reuux sPreaLd a,p_u‘l‘ so i+ would

have to be a l‘ca_”x long line 4:!0*‘.

e. For this data, a line plot /(cir‘cle one) is easier to read because...
A line plot  would have a lot of numbers without

any x's. The numbers are +00_S_pf&&d_ ont _for 4 ll‘nepfo"'.
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Use the data in the table provided to create a line plot and answer the questions.

2. The table below describes the length of pencils in Mrs. Richie's classroom
in centimeters.

Length (centimeters) | Number of Pencils

12 1

13 4

14 9

15 10

16 10

Lenaths of Mrs. Ricwies Fencils
N) X %
X %X
X X ®
2 X X
% R
X X X X
X % X X
¢ S S
x X 3
(4 12 12 1Y 15 lo
cm
a. How many pencils were measured? 3 l I+ +49=1% 1o+l0=20
4 +20=3%

b. Draw a conclusion as to why most pencils were 15 and 16 cm:

T dhink Mes. Richie has  a lot of new genails.

A : .
c. For this data, alline plot J table (circle one) is easier to read because...

The numbeyycare all in & vow and the

are oasy 4o compare by lookidg o the x's,
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1. Count and categorize each picture to complete the table with tally marks.

Fur

Feathers

1

[t

s




